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13| (%) BERTEREEE HITUXIE | FK E—H R

E) TR &) EALREEIAAD
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(A%L£%F 22,000,000 F x 1.1 = 24,200,000 [ %f.£%8)

HEBRRUM A HETROEE 2,200,000 M
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I = £ ESH - FRGEZEMELSE (RAFRE) & E B R & (H A HF) 11,361,058 M
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7| (%) EEER E% B— 11,370,000 2
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E) TR &) EILREEHIAAD
(A%L£%E 11,350,000 F x 1.1 = 12,485,000 F % #.£%8) HERRUHAHEROE 1,135,000 [
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E) TR &) EILREEHIAAD
(AFLL%E 14,300,000 FF x 1.1 = 15,730,000 @ %ZtL£%8)

HEBRRUM A HETROEE 1,430,000 M
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E) TR -k EILRE BN 25

(A%L£%E 1,680,000 F x 1.1 = 1,848,000 H % 4L£%8)

HERRUMAEETROE 168,000 M
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E) TR -k EILRE BN 25

(AFLELZEE 2,169,200 F x 1.1 = 2,386,120 H % 4L£%8)
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E) TR -k EILRE BN 25
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